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Question Number : 1 Question Id : 4509387681 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

: 1
If A C Z and the function f: 4 — R is defined by f(x) = then the sum of all

64_(U|5')24+x—x2

absolute values of elements of A 13

W - W B 1 7
ACZ 005 f:4 - R (HOH0 f(x) = a5 A DS
64_(0.52)24+x—x2

A 0B NFOTOR) 08 236D PO DENIE) TN
Options :

6

L]



2. %
Z5

3. %
i

4. %

Question Number : 2 Question Id : 4509387682 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Which of the following functions are odd?
& 1808 |IHDATOS” DD 2BX (Do airen
W o
LfG) =x (ex+1)
IL f(x)=k*+ k™ +cosx

I f(x) = log(x + Vx2 + 1)

Options :
!

1. %

LA
2. %

II1
3. v

I



Question Number : 3 Question Id : 4509387683 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
The 7™ term of the series 1 + (3 +5+7)+(9+ 11 + 13 +15+17) + ...
1+B+5+T)+O+11+13+15+17)+... (363 TD0E) 7165 DS

Options:

Cn+ 1) [’ —(n— 1)

1. =

@2n—1[m—1)?—n?
2. %

@n+ 1 [m—1)?—n7]
3. %

2n —1)[(n — 1)*+#n’]
4.

Question Number : 4 Question Id : 4509387684 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



83 74 41
If A=|93 96 31|.thendet(4—AT) =

24 15 79
83 74 41
A=[93 96 31| @00, det (4 —AT) =
24 15 79
Options :
0
1. %
—7851
2.
2442
3. %
1
4. ®

Question Number : 5 Question Id : 4509387685 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

a 1 1
It (1 b 1{=0.then abe =
W (T

a 1 1
1 b 1>0000®, abc >
1 1 ¢




Options :

1
1. %

—8
2. ¢
3. % s

3
4. %

Question Number : 6 Question Id : 4509387686 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If the system of equations a;x+byy+¢;2=0, ayx + b,y + 3z = 0, azx+hqy+c52=0has only

trivial solution, then the rank of {@; by 51

a; b; o5

a4 bl 0y
18

HDEBED 3390 agx+byy+e,z=0 a2x+bzy+czz=0. a3x+hay+e32=0, DY)

A(edad) $ON &0T, e

ay
a, bz Cz‘ Qil)é@rgéég
a3

Options :
2

1.%
1



3.¢¥

Question Number : 7 Question Id : 4509387687 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

13 a complex cube root of unity and if Z is a complex number satisfying |Z — 1] < 2 and

|w2Z — 1 — w| = a, then the set of possible values of a is
D580 TBE) 0 TS w 2,8 H08E ey, |Z - 1] < 2 H80M
|02Z — 1 - 0] = ¢, ) $32) BT 2,8 D08§E dog Z @oNs, @)1t a §

T 5e0TDS DENVIE) daes

Options :
=na=<2
1. %
1 *JE
ey i e
A
2. %
V3



Question Number : 8 Question Id : 4509387688 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If the roots of the equation Z3 +iZ%+ 2i = 0 are the vertices of a triangle ABC, then that
triangle ABC 1s
ZB4i22+2i= 0 dDEO0 G, Sreren 28 |BdZ0 ABC BE) 390D

9ONS & (322300 ABC 2,8
Options :

a right angled triangle

©ODSED (3223550

an equilateral triangle
a2V (€325230300
2. %
an isosceles triangle
QoD E 27TV (€320 2360
3.¢
a right angled 1sosceles triangle
@025°60 Do 27TV €322
4, % i

Question Number : 9 Question Id : 4509387689 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



(r.0) denotes r(cosB+ising). If x= y=(1,f),z=(1,v)and x + y + z =0 then
Leos(2oa—p-v)=
(5,0) 98 r(cos B +1i sinB)eD PN 0. x= (1, 0),y = (1, ), z= (1, 7) DO

x+y+z=00008 Y cos(20—p-7) =

Options :

3
1.¢

0
2. %

1
3 %

=1
4, %

Question Number : 10 Question Id : 4509387690 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

i . . . Tx%-5x-18 . |

The set of all real values of X satisfying the mequality ———< 2 is
N © 2xl4x—6

7x2-5x—18

TRy @NEGETR) e DT 1 T @R T ENIE) DeDed

Options :

(rn-Fotsen



Question Number : 11 Question Id : 4509387691 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
The set of all values of k for which the inequality x% — (3k+1)x + 4k? + 3k—3 > 0 is true for

all real values of X. 18
X GI0%) @A N0 x% - (kD)X 44k +3k-3>0 5D
&03 k G305 ©R) DeN®) daDed

Options :



Question Number : 12 Question Id : 4509387692 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The cubic equation whose roofs are the squares of the roots of the equation
12¢° 200" +x +3=0is
1203 = 2002 4 1 + 3 = 0 DaDEGEI0 GNE) TS ST NPT KORN 5009
NHWeAle

Options :

x2 4 376x%2 —121x—9=10

144x% — 400x% + 121x 4+ 98 =0

144x3 —376x% 4+ 121x—9=0
3. %

x% +400x%2 —121x—98 =0
4, %



Question Number : 13 Question Id : 4509387693 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

o. B. v are the roots of the equation x® + 3x% — 10x — 24 = 0. If a(f +y), B(y + ) and

y(a + f) are the roots of the equation x> + px? + qx + 1 = 0. then g =

23 4 3x% — 10x — 24 = 0 deEBE0 DB0E) Surere a. B.v. a(B+7),B(y + @)

B0 y(a 4 B) 0 x° +px® + qx + 1 = 0 NWEGRO T0E) ArerBB, ¢ =

Options :

— 44

1. %

== BB

Question Number : 14 Question Id : 4509387694 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Among the 4 digit numbers formed using the digits 0. 1. 2. 3. 4 when repetition of digits allowed.

the number of numbers which are divisible by 4 is
',

B

0. 1, 2, 3. 4 ®0ZON TSR B0TO JITIYB0 ) @ddSoTIDE)

DBIBBHOT 4 89030 S0, 4T 2PA0NDT 0PI oW

Options :



140

160
2. ¢

180
3. %

200
4, ®

Question Number : 15 Question Id : 4509387695 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The number of ways of arranging 2 red. 3 white and 5 yellow roses of different sizes mto a

garland such that no two yellow roses come together 1s
©), D), D870 HOR 2 BR, 3 BOA HAOH 5 380 IR ther?)
DO, ) BO ey )R HEPE) 2 3O D8} 0810 BROT GoBELDT

2,8 Q0T SrEION A6 HoDS

Options:

2880
1. %

144
2. %

1440
3.¢



Question Number : 16 Question Id : 4509387696 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The number of ways of selecting 3 numbers that are in GP from the set {1,2,3, ..., 100} 1s

(1,2,3,..,100} & hod, HHFES &oT 3 0P ot SHOT dre

0

Options :

18
1. %

h
2. %

14
3. %

h3
4.

Question Number : 17 Question Id : 4509387697 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

9

: . : cofde® AR
The independent term in the expansion of (1 + x + 2x2) (% = E) 15

2 9 <
(1+x+222) (Z-- ) CE) DRSS D 550350



Options :

18
) 7
1. %
7
18
2.
7
18
3. %
18
a7

Question Number : 18 Question Id : 4509387698 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

For |x| < - tl ffici f x in the 10n of S G
on - \E’ 1€ Coelricient o1 X i1 the expansion o {4—.1:)3 72 15

1 — A2 (T —F421/2
§, (1—-4x}{1—2x=)

< = B DRGS x BB, 1D
| x| 5 T A3wE) DNGEAS x OwEY heado
Options :
61
64
1. %
61
64



69

64

3. %
69
64

4, %

Question Number : 19 Question Id : 4509387699 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
4x245 - A B C D A B T
-2f D) + X2 + FEE 3 X2y then | ek e=
4x245 A B e D A B D
= AT __Q)S — 4 — — =
T s Sl e R T e N AR
Options :
V29
) 4
’|_ W
V23
4
2_ W
5
4
3 ¢
4
5



Question Number : 20 Question Id : 4509387700 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
t H—I—t 2H-|—t 3H+f Jm-H‘ 5H+t 6H-|—r o
an®—+ tan®—+ tan* — + tan’ — + tan’ — + tan® —+ tan’* — =
16 16 16 16 16 16 16
Options :
35
1.¢
41
2. %
37
3_ ]
33
4, %

Question Number : 21 Question Id : 4509387701 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

sin18° + sin?24° + sin?36° + sin?42° + sin®78° + sin?90° + sin?96° + sin102°

+5in%138° + sin?162° =

Options :

11



Question Number : 22 Question Id : 4509387702 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

sinA+sin B+ sinC

If A, B. C are the angles of a friangle. then — ——————
sin®7—sin®_+ sin?> -1

sinA+sinB+sinC
A.B.C o (82D §erSs, ——— =

) ) o
sin?=— sin?=+sin2=—-1
2 2 2

Options:

B
—2tan—
2

5 B
Zitan—
AN >



Question Number : 23 Question Id : 4509387703 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

: X e
The general solution of cot> —cotx = cosec— is

{Z‘D‘Eg L pEY = msecg DEBE20 AWBEY, B ;S
Options :

{Z:rm—l-g | n EZ}

1_%-5
{%zn-l—iln EZ}
3
2_%5
2w
{ZHTT-E-?HI EZ}
3. =
2w
;'4.‘rmi?|n EZ}
4, &

Question Number : 24 Question Id : 4509387704 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Ny

; 1 i E
0 <x< P anda = Sin"1x + Cos™?! G - ) .then tana + cota =

-1« : e R {2 -
U‘i.‘.ﬁgc\l}(ﬁ(m{?—&ﬂ x +Cos™ (4

) @cmﬁ. tana + cota =
Options :

4
V3

4x

1—2x2

xy1—x2

Question Number : 25 Question Id : 4509387705 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

cosh(log 4)=

Options :



2. ¥

3. % L
9

4, # .

Question Number : 26 Question Id : 4509387706 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

In AABC. a®sin 2B + b%sin 24 =

AABC &', a?sin 2B + b%sin24 =

Options :

2ab cos A
1. %

2ab sin A
2_ W

2absin C
3. %

2ab cosC



Question Number : 27 Question Id : 4509387707 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
In AABC, —214Ts)
L mira st
AABC S r2(r1+713) o
,\f'r‘l'r2+r2'r3+r3 5]
Options :
a
1. %
b
2. %
C
3, #
S
4. #

Question Number : 28 Question Id : 4509387708 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
In AABC, (r, + rgjmggczg s
oh i A
AABC &, (r, + 1‘3_}&159.:25 —
Options :

4R



AR 24
"ol =
co 2
4R t 24
A —
2
3_%’-5
A
R tan®—
an 2
4, %

Question Number : 29 Question Id : 4509387709 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If the vectors ai + ] + k i+ hj+ ki i+ i+ ck (a # b # ¢ # 1) are coplanar, then
1 1 1
15 1B 1

G+t i+bj+k i+j+ck (@b #c%1)OD SO ISOOTrSS,

1 1 1
1—ﬂ+1—b+1—c_

Options :

b3



Question Number : 30 Question Id : 4509387710 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

If AB=2i+3j—-6k; BC=6i-2j+3kare the vectors along two sides of a triangle ABC.

then perimeter of triangle ABC is:

AB=2i+3j-6k; BC=6i-2+3k ®F HOIn ABC BH20SQ Boch 2here

302G t5d) AOFTB, |@2HB0 ABC tHENFEES

Options :
1 % 21

V74 + 14
2.

V74 + 19
3., %

V74 + 3
4. ®

Question Number : 31 Question Id : 4509387711 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



b=i-2j+k Da=2i+3j+3k B0, ©OD DTN AOF

Ly

Options :

RS . s e
—E(2i+3j-l—3kj

1. %

(T+2j-F)

c = A
2. %

—2i 0k
3. %

- T3k
4, ®

Question Number : 32 Question Id : 4509387712 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
If a=-4i4+2+ th, b=v2i- V2j are two vectors then angle between the vectors
- b
2a and s

e 5 o i e i [ v = b v, +
a=—4i+2j+4k b=v2i-v2j 030 NOITS, 2, 030 e 5600

Options :

30°



135°

2.9

90°
3. %

DD
4. %

Question Number : 33 Question Id : 4509387713 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

A unit vector perpendicular to the vectors @ = 2{ + 3j + 4k and b = 3 + 2k is

a=2i+3j+4k OO0 = 3] + 2k AOFOE ©0OM &OT 2.8 NOF

Options :
3i 4+ 2j — 2k
1, % Viée
3i + 2j — 3k
V22
2.V
3i - 2] 13k
.,\;ﬁ



3i +2j 4+ 3k
V22

Question Number : 34 Question Id : 4509387714 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

If the mean of the data 7. 8. 9. 7. 8. 7. A. § 15 § then variance of the data

o

7.8,9,7.8.7. 1 8 ©F 050 ThE) ©90F )LD 8 @ON, 8 (GF0F0 GRE)

o

(29

o Y
D8

Options :

2

ol o

Question Number : 35 Question Id : 4509387715 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



When two dice are thrown. the probability of getting the sum of the values on them as 10 or 11 1s

006 FR%OD F0DJND 8T SDYY Do) FBo 10 D 11 ©A;

NOLANITL]
Options :
7
1% 36
5
36
2. ¢
5
18
3. %
7
18
4, %

Question Number : 36 Question Id : 4509387716 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
It is given that in a random experiment events 4 and B are such that P(4) = i.
P(4|B) =§ and P(B|4) = gthen P(B) =

2,8 OSPYD)8 DTS A OO B sédden P(4) ==, P(A|B) = ; P(B|A) =

&
4
2 @OV &0T), P(B) =

Options :



| =

1.¢
2. %
1
2
3. %
1
6
4. %

Question Number : 37 Question Id : 4509387717 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The probability that A speaks truth is 75% and the probability that B speaks truth is 80%. The

probability that they contradict each other when asked to speak on a fact 1s

75% DOGTIOS A D20 JFEIEEr. 80% HoST)OS B N0 Jrerierd. 2,8

H06S HO0D FEH T A0S 33150 ABEODTNE Hoarsd3eh

Options :
3
20
1. %
4
20



20

3.¢
5
20

4, %

Question Number : 38 Question Id : 4509387718 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Bag A contains 2 white and 3 red balls and bag B contains 4 white and 5 red balls. If one ball is

drawn at random from one of the bags and is found to be red. then the probability that 1t was

drawn from the bag B 1s

A DD 2 BOA HBMD 3 I 20chEN 0N B DS 4 BO AW §

O 206100 ). FES 2.8 DY OFESHRL0M oS TR T 0 2.8

208 S, TN S 2081 HEW, & 208 B DY H0D) S0HadSE

R |

GOGETVS 02T
Options:
23
54
1. %
25
51
2. %



25
52

27
55

Question Number : 39 Question Id : 4509387719 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If the probability distribution of a random variable X 1s as follows. then k =

X=yg

1

2

3

4

P(X=x)

2k

4k

3k

k

28 0P8 VT3 X GRE) D02radsed aeraco (506 S0 GO, k =

X =¥

1

2

3

4

2k

4k

3k

k




Question Number : 40 Question Id : 4509387720 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

In a Binomial distribution B (n, p). the sum and product of the mean and the variance are 5 and 6

respectively. then 6(n+p—q) =

28 B Neras0 B(np) S NG5O0, DO InSaw SHBA ©Pen

ST 5 BN 6 9N 6(n+p - q) =

Options :
50

1. #®
53

2. %
52

3. %
_ 5]

4. ®

Question Number : 41 Question Id : 4509387721 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The locus of the nudpoint of the portion of the line x cosa + ysina = p ntercepted by the

coordinate axes, where p 1s a constant, is
p %8 QY U8 @)W, AIFS ©FOT xcosa +ysina=p 0D O)B
©903DOCI0 ORE), aDECE 2O 0NN

Options :
1 1 3
x2 'y = F
1. % L
1 i & 4
™ p?
2.¥ ‘
x? +y* = 2p?
3., %
2 2 1
X2 yZ F

Question Number : 42 Question Id : 4509387722 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The origin 1s shifted to the point (2. 3) by translation of axes and then the coordinate axes are
rotated about the origin through an angle 6 m the counter-clockwise sense. Due to this if the
equation 3x” + 2xy +3y% — 18x — 22y + 50 = 0 is transformed to 4x% + 2y* = 1 =0, then
the angle 6 =

N0 0935003 T 500 FODODYD (2. 3) DO 8) &8 ehared
DTN 950D HrFeR0d) S80T G838 Saod 1B080 Tobowrd.
OISO 3x% + 21y +3y% — 18x — 22y + 50 = 0 9% NaDEBEI0 4x% 42y - 1= 09D
NaDEGe0m Brarosdo ToHS, ) ¢h 60 8 =

Options :
T
4
1.4
T
2. # 3
T
6
3. %
T
2
4, %

Question Number : 43 Question Id : 4509387723 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



If the straight line passing through P (3. 4) makes an angle r with the positive x-axis in

anticlockwise direction and meets the line 12x 45y +10 =0 at Q. then the length of the

segment PQ is

P (3, 4) DO SFTD HEETD G x-508 BB S0 % TP SO T

12x + 5y + 10 = 0 o Q 54 §eN 0T, €95 )¢ Tar0chein PQ G, rched

Options :
64
1242 -1
1. ®
96
T
2. ®
112
10v3 + 3
3. 3
132
123 + 5
4.

Question Number : 44 Question Id : 4509387724 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The equations of the perpendicular bisectors of the sides AB and AC of AABC are x -y +5=0

and x + 2y = 0 respectively. If the coordinates of A are (1. —2). then the equation of the line BC 1s
A ABC B0y 2025060 AB OGN AC © ©0N:00 500 Te) HRdEGeren
SO x =3 +5=0 00080 x+2r=0. A BVE, AEFITEN (1, —2) ©OWE, T BC
G308}, ADITEI

Options:

14x+23v—-40=0

1.

13x—9v—-14=0
2. %

O9x—14v—-25=0
3. %

8x+ 15v—-30=0
4. %

Question Number : 45 Question Id : 4509387725 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

A pair of lines drawn through the origin forms a right angled 1sosceles triangle with right angle at

the origin with the line 2x 4 3y = 6, The area (in sq. vnits) of the triangle thus formed 1

Sire Doty Hom Fah a8 SEFTarainio. B9 2 +3y =6 & rodocs)
8 ©02) §eAs0ed HOR 28 ©028) MDA 527TV (820200 YDA, &
0T 56 | Behzain T8, BT (1. AT

Options :



36

13
1.¢

32

13
2. %

18

b
3. %

25

9
4. %

Question Number : 46 Question Id : 4509387726 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The combined equation of the bisectors of the angles between the lines joining the origin to the

points of intersection of the curve x% + y* + xy +x + 3y + 1 = 0 and the line x + y + 2= 0 is

S A+ y day Fx43y4+1=0 HOOW 0P x+y+2=0 © GE DO

DoD)OD re DohYB o 6T 090 Hs o Tewe

DB SDOLTDO a3 aDEGEIN

Options :
x24+4xy—y2=0

1.4

¥ 4xy + _‘_nfz =10
2. %



2x:—3xy + 32 =10

x?+2xy—3y*=0

Question Number : 47 Question Id : 4509387727 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The circumference of a circle passing through the point (4, 6) with two normals represented by

2x—3y+4=0andx+y-3=01s

(4,6) D0OCDYHOT AT 2x — 3y +4 =0 DGO 1 +y -3 =0 ATFDOD TDOD

©92)O0TDENT (10 S0 T, PSS

Options :

o1t
1. %

10m
2.

25T
3. %

8n
4. ®

Question Number : 48 Question Id : 4509387728 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

If the line through the point P(5, 3) meets the circle x + y2 — 2x — 4y + a = 0 at A(4,2) and

B (_IL _}-'1). then PA. PB 1s equal to

P(5,3) &3 20CNeY (HOTT 3% 0, A(4,2) HBOW B(xy y1) © G

&

x4 y? - 20— by +a = 0 ST PO, ©))C% PA.PB =

Options:

6
1. %

12
2. %

9
3. %

3
4, &

Question Number : 49 Question Id : 4509387729 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Consider the point P(a, f) on the line 2x + y = 1. If the P and (3,2) are conjugate points with
respect to the circle x* + y* = 4. thena + f =
204y =163 093 &) 28 Do) P(a, f) & HOIOT. P sbB0N (3,2) &0
1% 4 y2 = 4 5980 S9als oo} oSS, @) a +f =

Options :



1.9

. |
2. %

=5
3. %

7
4, ®

Question Number : 50 Question Id : 4509387730 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If (1,3) is the midpoint of a chord of the circle x% + y? — 4x — 8y + 16 = 0, then, the area of

the triangle formed by that chord with the coordinate axes is
(1,3) % 20Ny 12 4 y2 —4x - 8y + 16 = 0 O SyTRS 110) 28 araineds Docka)

©ONB, & 23 AT ©TOS I6)0T |82 ZTO50

Options:

16

4. %



Question Number : 51 Question Id : 4509387731 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If the circles x®+y%+2ax+2y—-8=0 and x’+y*-2x+ay-14=10 intersect
orthogonally. then the distance between their centres 1s
¥4y +2ax+2y-8=0 DBAD x2+y-2r+ay-14=0 TN 0050

©0DOT POBOLNH0D), & +39¢ So[T® HEY rdo

Options :

V970

Question Number : 52 Question Id : 4509387732 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



If P s a point which divides the line segment joining the focus of the parabola y? = 12x and a

point on the parabola in the ratio 1: 2. Then, the locus of P 1s
y? = 121 HTRHO0H0 GBE) T8 HOO DTaH0 2 e 2.8 Dochayd §D
Dar90m@R) P& Dot 1:2 2)BS D2N0D P BwE) Hotvndo

Options:

y? =2(x—2)
1. %

oAy
2. %

y2 =4(x — 2)
3.¥

y2 =9(x — 3)
4, ®

Question Number : 53 Question Id : 4509387733 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
A . 2 2 ] . .
Let T, be the tangent drawn at a point P(\IZ, -u“3) on the ellipse % + % = 1.If (e, f) is the point
where T, intersects another tangent T, to the ellipse perpendicularly, then a® + % =
2 2 s e
630 T+1=1 60S5%0n P(243) SO fobadd S)6@e. T &
(&, 8) DOy ¢ & HYSITAE o) DB 9)8;09 T, ©020T DO, a2 + f2 =

Options :



10

1.¢
52
2_ 4
26
3. %
5
/12
4. %

Question Number : 54 Question Id : 4509387734 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

: 2 o i : e S
Ify = x + V2 is a tangent to the hyperbola — — y? = 1. then equations of its directrices are
a

xZ 2

=L - 1 98090000 G308y 28 )80 v = x +2 900® TR AoheIDO

az 2 -
QB0E), Dangderen
Options :
v = +V3
1. %
8
X = i l-g
2. ¢ "

3. %
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Question Number : 55 Question Id : 4509387735 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

2 2
. ‘ 3 ; : X :
The area of the quadrilateral formed with the foci of the hyperbola P —% =1 and its

conjugate hyperbola is (m square units)

2 2

——% =1 e8TH005 HOU T o edITsOa T,

TEHOS MR e B0 BN FTOL0 (. CrILS)

Options :
24
1. %
16
2. %
25
3. % )
50

4, &



Question Number : 56 Question Id : 4509387736 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The length of the mternal bisector of angle 4 m AABC with vertices A (4. 7.8). B (2. 3. 4) and

E.5.7 i

A(4.7.8),B (2 3 4) B0 € 2.5.7) &0 Fd0enm ey AABC S Seaan 4 g

@90 DDA ;D0 B &rche)

Options :
N
3 W&o

’|_ E
229
—"'.,‘u' L
3

2. %
2 31
3 W

3. %
* 3
3 v

4. %

Question Number : 57 Question Id : 4509387737 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



If the direction cosines of two lines are given by [+ m +n = 0 and mn — 2lm — 2nl = 0. then

the acute angle between those lines is
00C 50 A5 S [ +m+n=0 DO mn —2Im - 2nl = 0T BD YD) ) &

326 sDEB5N0T 961880

Options :

ZH/S

/3

2. ¥

Ta
3. %

"/60
4, %

Question Number : 58 Question Id : 4509387738 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

If the angle @ between the line % = yz;l = % and the plane 2x —y + Az +4 = 0 is such

; 1
that sinfl = 7 then the value of 4 =

+1 =k 2 G g ~
sinf :é ST T xT = yT = ZT 2000 9D 2x—y+yViz+4=0

S0E33 6) T3 B 0T, ©9a))¢h A VLY eV

Options :

1. %



2_ 4
5/
/s
4, %

Question Number : 59 Question Id : 4509387739 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

I
RS | . . : .

a If Timf(x) exists then the sum of the cubes of the possible
ax , l<x<2  *1

Let f(x) = [

values of a 1s

x
X +— b , ¢ o By
f(,x):[l o 15251 wsdton limf(x) 359060 @B, a 5 ¢5NS

o, l<x<2 -1
DENIO) DT N0
Options :
1
1. %
5



|

Question Number : 60 Question Id : 4509387740 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Let [P] denote the greatest integer < P. If 0 < a < 2. then the number of integral values of ‘a’
such that lim([x?] - [x]?) does not exist is
X
P § 0dA fiBa) TSR, [P] APDD0SHE0R. 0 < a < 2 9ONS,

lim([x?] - [x]2) 35050 S0 GOBEIEY 3 ‘a’ G308 aFTOE DENIO

x-a
NOL
Options :

3
1. %

2
2. ¥

1
3. %

0
4. ®

Question Number : 61 Question Id : 4509387741 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
VaZ-ax+x2—VxZi+ax+a? £ 0
H ity = Jara—Ja—x ? 15 continuous at x =0, then K=
K , &=
VaZ-ax+i2—xI+ax+a? 5
=00 f(x) = Vam—ax 0 7T, @D S eons, K =
K ;v x=1
Options :
_"'.-"IE
1.4
e
va
2. ®
—1
3. #
(P—vi?
4. %

Question Number : 62 Question Id : 4509387742 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

1—x

If y= Sinh™ (—) then & =
1+x dx

= Sinh™ (D) wons X =
1+x dx

Options:

1.9



o
- 1.,-" 2

|1+ x| V1+x2
= |
(1+) Vx
2. %
1
(1+x2) V1+x
3. %
—\2
(1+x) V1-x
4. %

Question Number : 63 Question Id : 4509387743 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
oL 1 B Ly i % y . ; -:2';1 -
Ify=(x—1)(x+2)(x"+5)(x"+8). then xfi:rial (dr) —

y = (x — D@+2) (12 +5) (x*+8) @O0, lim (2) =

r——1 “Wax
Options :

—30

30



Question Number : 64 Question Id : 4509387744 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

alth-2, x<1
Ff(x)={3y—-3 | <y< 2 isdifferentiable V x € R, thena — b =
b3 +1. : e 3,

ax?+bx — 18—3 x<1
O X EROD F() =1{3r—3 [ <y<2 OFOIODMD SONS, a—b =

brd+1, x>2

Options :

9

8
1.¢

5

4
2. %

11
3. %

1

4



Question Number : 65 Question Id : 4509387745 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

A is a pomt on the circle with radius 8 and centre at O. A particle P 1s moving on the

circumference of the circle starting from A. M 1s the foot of the perpendicular from P on OA and

£POM = 6. When OM=4 and(;—i = 6 radians/sec. then the rate of change of PM is (in units/sec)

0 J¢ S0 DB 8 FEPY0 T (o) a8 B0 D A 28 Dotde). A HOG

20DOVTO 2,8 §E9a P 39S 86 2 EHNS0A. P odk 0A A ©02r¢30

M 00c £POM = 6. OM = 4 DB gz 6 0B0HR) /505 @ondy)ch PM
S r8) T (REDHH CrAS)

Options:

244/3

2. %

15v3

483

Question Number : 66 Question Id : 4509387746 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



If the length of the sub-tangent at any point P on a curve is proportional to the abscissa of the

point P, then the equation of that curve 1s (C 1s an arbitrary constant)
28 D80 2 2 Do) P HITI AN G )00 8Pched), & ooy P O 1-
QEFHTRE @ HPS0S GO, €3 250 SEBE0 (C 28 OARAREEN o)

Options :

y*¥+xk=C
1. %

xMkC =gk

(x +y)k=C

PR
4.

Question Number : 67 Question Id : 4509387747 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

In each of the following options. a function and an mterval are given. Choose the option
containing the function and the mterval for which Lagrange’s mean value theorem is not

applicable

B0 FD) 198 DDE0 e 2.8 (NN, 28 BOoBE0 BN DAY, S|rod
TS @HNG0NDED  [D00Ha DO @osddo fe DI
2e)Sod

Options :



filx) =l 1 =x<5h

1. E-

£ = [x]. [V2,V3]
2. ®

_ _ 1

F() =log(x* = 1),|. e —2]
3.V '

fx) = e%; [—e. ]
4, ®

Question Number : 68 Question Id : 4509387748 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

x—|x]

The function f(x) = [ R 0
2, x=0
m L
£(x) :{ x X SV BN VOWINN
7.4 x=0

Options :

is continuous for Vx € R

€3 x € R 250 @D )30

has maximum value 2

585 e 2 & EOAGOENOE
2. ¥



has neither minimum nor maxinun

EQa) e SDBO (8 e G0Chs)

has minimum value 2

L QR DeNS 2 D EDRG0LNOH

Question Number : 69 Question Id : 4509387749 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

4

it [ ﬁ% = g[ A Y34 Vs ¢ 4D log(l+4\/ﬂ]+K then S(A-i-B-i-C’—DF

Vx+
4 p— — A
| @ﬁﬁ d = E[Ak Va3+B Va2+ C YD log(h“{@]ﬁ( 0NS %(A*'BJFC‘—D) =
Options:
1. % 3
2
3
2.
i
3. % .



Question Number : 70 Question Id : 4509387750 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
J (o)™ x™ dxi=

Options :

J,tmem dt. t=e"

1. ®

J tl]‘]E[:ﬂ-i-l}t dt. t= E:::
2. %

J tMe@E ¢ =gt
3. %

’. tm E?m di. x= er
4. %

Question Number : 71 Question Id : 4509387751 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



fSiu'l( x-a) dx =
¥

Options :

a —
x Cos! |[— — Jax-a? +c¢
N

1. ¢
T
xSec™ [—+4x%-ax+c
b
2. %
. N T
X 5111'1\/: +of x*ax e
a
3. %
. L A
NS U - B e
=8 ok o gt
a a a
4. %

Question Number : 72 Question Id : 4509387752 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

+ ¢. then domain of f{x) 1s

]fJ- SIN X COS X i _f{::]

veosty — sindx

J- 5111 X COS X

dr= —L2 +c oo flx) THE) T

Vveosty — sintx

Options :

[2on . 2n+1)m]l.n=0, 1. 2...



[(4n = D3 . (D3] .n=0.1.2
= (ntD)3].n=0.1.2...

2. %
I T T
[(_411 1) | (4u+1_)1].n= BB
[(zuE ‘ ('211+1)E] n=0,1,2, ..
2" 4
4. %

Question Number : 73 Question Id : 4509387753 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

If y = (Tan"12x)2 + (Cot™12x)2, then (1+4x2)%y" — 16=

y=(Tan"!2x)% + (Cot™12x)2, @0oNSB (1+4x2)2y" — 16=

Options :

8xvy'
1. %

—8x(1 + 4x2)y’
2.

8x(1+ 4x2)y’
3. %



Question Number : 74 Question Id : 4509387754 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

T

'jl ' i ' s - '
If fﬂﬂ(snﬁx—cc}s“.r) dr=K J;r sinx dv+L | cos”x dv and K. L € N, then the number of possible
ordered pairs (K. L) s
B cccpons v e P ngcpoie 5 pe 2 o - . 4 e 59T
fo (sin*xtcos*x) dx = K f{} sinx dx 4L _fﬁz cos’x dr o000 K, L € N @00 &lPQ5e0005

(K. L) 1520 05010 0

Options :

1
1. %

2
2. ¥

3
3. %

4
4, %

Question Number : 75 Question Id : 4509387755 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

o x sinx "
I X-—=
X 4cosx + 3sinlx



Options :

T
6'\!‘@
1.9
T
3'\.,-"'3_’
2. %
H-E
3-v‘§
3 %
V3 n?
4. %

Question Number : 76 Question Id : 4509387756 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time

Time:0

1+x2 1.1
IEd— fm a d BH— f _; dx. then
oo 1+x2 1 1+x2
S f 1+_1'4' B = ) T
Options :
2A=8B
1. F
A=B

:N.A Think Time : N.A Minimum Instruction



2B+A =0

Question Number : 77 Question Id : 4509387757 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
If (o, B)is the stationary point of the curve y= 2x-x%, then the area bounded by the curves

y=2" y=2-+, x=0andx=u s
y=2x— 22 JSNE (o, f) AT DOHRS, 5N y=2%, y=2r - 1%, x=0 HO0M x=0
OB N0SYBNAN; [P0 T30

Options :

3log2+4

2
1. %
3+log 4
_ 6
2. %
3— log4
3
3.¢
1 3
log2 * 4



Question Number : 78 Question Id : 4509387758 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Among the options given below, from which option a differential equation of order two can be

formed?
8065 208 TR, ) DDIE0 DO B0 B5TE) 35 SDEBEIND
N85

Options :

All circles passing through origin

307> 20N HOT D 59T N
1.

All parabolas passing through origin and having focus on x-axis

07 D06 MHOT ey x- @8 0 3 T8 S DTSN EN

2. ®

All the lines passing through the origin

ey Dot Mot VA @) BTden
3. #

All hyperbolas of the form x2 — y2=k*

x2 — 2= 2 ErH0SEH0T @) @9 HTS5aTen
4, ®

Question Number : 79 Question Id : 4509387759 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The differential equation for which ax + by =1 1is general solution is

ax + by =1 Q) P AT e @35 D0

Options :
dy
dx
1. %
dz_’},-'
y 2 Tx=d
2 ®
dzy_
dx?
3.«
d3y U
dx3
4. %

Question Number : 80 Question Id : 4509387760 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
The solution of the differential equation e*ydx + e*dy + xdx = 0 1s

e*ydx + e*dy + xdx = 0 @38 DaWEB0 BNE) S
Options :

eX+yx?=c
1. %

2. &



2ve*+x?=c

ve*+x’e¥=c

3. %
e*+xe¥=c
4, %
Physics
Section Id : 450938163
Section Number : 2
Mandatory or Optional : Mandatory
Number of Questions : 40
Section Marks : 40
Enable Mark as Answered Mark for Review and
Clear Response: ves
Maximum Instruction Time : 0
Is Section Default?: null

Question Number : 81 Question Id : 4509387761 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Which of the following is not a unit of permeability

1808 57¢3S” DO DB0HENEEI & [H370 52

Options :



Henry meter™?!

1. %
Weber ampere™! meter™?!
2. ®
Ohm second meter™?!
3. %
Volt second meter™1
4.

Question Number : 82 Question Id : 4509387762 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

A diving board is at a height of 'h’ from the water surface. A swimmer standing on this board thrown

a stone vertically upward with a velocity 16 ms™. It reaches the water surface in a time of 55 .

In the next 0.2s. the diver can hear the sound from water surface. The speed of sound 1s

(acceleration due to gravity g = 10 ms™2)

N8B0 0B ' AW (e BAOA 5§ 2 Aen)d) SHmed Loms™ Jod
DOAHT D8 TOND VT, B0 5 VEIS A3 G0serd) TOOH. b
200 0.2 DEVE Sdrch) & 127 0B, R0 ((Hkeh s ¢ 5560 g = 10 ms™?)

Options :

450 ms !
1. %

225 ms™1

2.¥



200 ms™1

275 ms !

Question Number : 83 Question Id : 4509387763 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Path of projectile is given by the equation Y = Px— Qx%. match the following accordingly

(acceleration due to gravity=g)

2,8 30e) D0 Y = Px— Qx? 8880 T 507 0 d0d. A esprdorr 1§od
3R 2SD0H0G (g Hed s 6 58e0)

R_ : R a2 : !
a | Range 1 : a|o’fo) 1 Q
b | Maximum height |11 | P b | H{Bed E ii|P
P 2
¢ | Time of flight | — ¢ | 5458 00 iii P_
4Q 4Q
; Tangent of | E s 1952) 5690 TR, /?
( o v = d - £ —|p
projection \ 5 70208 ’ \ gQ
Options :

a-1, b-111, c-1v, d-11

a-1. b-111, c-11, d-1v

a-111. b-1, c-1v. d-11



a-1v, b-i1. c-11. d-1
4, ®

Question Number : 84 Question Id : 4509387764 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

A bowling machme placed at a height h above the earth surface releases different balls with

different angles but with same velocity 1043 ms™. All these balls landing velocities make angles

30° or more with horizontal. Then the height ‘h’ (in meters)

(acceleration due to gravity= 10 m s %)

25rederdEh IR G0N 2,8 O0f 0|0 ()8 208 103 ms™LF0s, § B2

Jr0BE0S DY) Seren TREED DDA TY0A. BV 2R TS

6 Jrozen, §8B08 30° B @oS0T) 500 TR0 DR @ES, Jé) N

(D&0S)

(hSed s & 30 =10ms72)

Options :
- 15
5 % 12
3 % 10

5



Question Number : 85 Question Id : 4509387765 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Aballoon carrying some sand of mass M 1s moving down with a constant acceleration a,. The mass

‘m’ of sand to be removed so that the balloon moves up with double the acceleration a,, 1s
2,8 BOFR S0 M (355073 o) 2008 8. & Bers a, V0 :86:m8 (§068
SN 6. 8 BT 2, § oG0S & 58S 2 FIBI0D), &8 Bers DO

SONOIIONN RS |D350%3 ‘M’ 2)ENa)

Options :
2Ma,
m =
2o+ 8
1. #®
2Ma,
m =
dg — 8
2. %
3Ma,
m=——-r"
g + 2a,
3.¢¥
_ 3Ma,
m = ==y
4. ®

Question Number : 86 Question Id : 4509387766 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



A person walks up a stalled escalator in 90s. When standing on the same moving escalator, he

reached in 60s. The time it would take him to walk up the moving escalator will be.

Y

DTVBES’ &) B0 28 SHAN 90 EDHO 500 8 N0yerch. eoF
S EE0EN) B 28 AOD &5)29)ch @8 HAND 60 DEOAS 8
BEN08. ESendd) JBHE D HAX DE SEDS ©BD D8 FETE HE

SHONW
Options :

36 s
1.4

728

18 s

27 s

Question Number : 87 Question Id : 4509387767 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
A particle of mass 'm’ at rest on a rough horizontal surface with a coefficient of friction '’ is given
a velocity 'u’. The average power imparted by friction before it stops
e M0 W 1OS 28 fhd §B2TosE $00D MO WS &)
m’ (3507 1) SR8 ' IR B, G $620 &7 DHOITRS oded 2ere
500 1N OG0 @TDHE 50 eV

Options :

1.



Zero

1

— pmgu
2. ¢ :

pmgu
3. %
4 % Zumgu

Question Number : 88 Question Id : 4509387768 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

A soccer ball of mass 250 g is moving horizontally to the left with a speed 22 ms™?. This ball is
kicked towards right with a velocity 30 ms™ at an angle 53° with the horizontal in upward

direction. Assuming that it took 0.01 s for the collision to take place. the average force acting 1s
e 4
(c0s53° = =i sin = 2

250 15535078 i) 7780 w0 §az daroddor 2msT FMod DS
500S) 0. & 208 3 HIS’ § 823 SrostdE 53° §ea08, 30 ms™! FoS
408 B8 Be8) 2B00. & DTG0 0.01 DED TS BOAS AT Y

200
3 oy 4
(e0s53° = =3 il 53" = 2
Options :

- 1000 N



986 N

2. #

1166 N
3.¢

2000 N
4.

Question Number : 89 Question Id : 4509387769 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The moment of inertia of a solid sphere about its diameter is 20 kg m*. The moment of inertia of a

thin spherical shell having the same mass and radius about its diameter 1s

TR0 N0 2,8 20 F¥o Gy 2cdehs (2P0 20kgm? AAE ST
563507, F5arQ0 $OAN DA Fgs Y §6)50 (spherical shell) G308, 750
DO0TP 23¢8ed 5 (270500 2)ENe)

Options :

16.6 kg m?
1. %

30.3 kg m?
2, ®

33.3 ke m?
3.v

66.6 kg m?
4. %



Question Number : 90 Question Id : 4509387770 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

One ring. one solid sphere and one solid cylinder are rolling down on same inclined plane starting

from rest. The radius of all the three are equal. The object reaches down with maximum velocity is
2,8 £0589500, 2,8 $ed 0 BN 28 800 A0 % 16 VB0 20530, 2.3
TS Mo 8068 BN, @) 0 e TGO SO A2
@O0 185 oS TendOen S0H TE Hen.

Options :

Solid cylinder

500 50
1. %
Solid sphere
e FESa0
2. %
Ring
505£2:00
3. #
Solid sphere and Ring
. BRI oN SNEAD E0oEea0
4,

Question Number : 91 Question Id : 4509387771 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



As shown in the figure, two blocks of masses m; and m, are connected to a spring of force constant
k. The blocks are slightly displaced in opposite directions to x;,x, distances and released. If the

system executes simple harmonic motion, then the frequency of oscillation of the system () 1s

HRNES LTS DSV my BN m, |Sd5o7hen e Boch Ben k |R)0h
NoP0%am o (20 % Seadad. & Bodh By SBTEBIOS 1%,
Srdsned) Todan ToHoD HOOBADDAN. B 5530 DY TTh
2030 BOWDA), s A Fresydgad (@)

1. %
1 1
[
my M2
2. %
\/ 1 1
)
m; i
3. %

1 1
j(_+_)k
m;y My

4.+



Question Number : 92 Question Id : 4509387772 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
A mass M. attached to a horizontal spring executes simple harmonic motion with amplitude A;.

When mass M passes mean position then a smaller mass m 1s attached to it and both of them

G : T : Ay
together executing simple harmonic motion with amplitude A,. Then the value of s
2

2,8 § 82 N7058 1200 80 EondBd M aF (335073 4, 5033 D8NS N
P08 1050 DO A. AR TS T 6 ‘M’ O J0F XY (K35
030 M 4§ $e0nad o). & Bodd (sorhen SO0 A, 09 MBS S

P08 TIONO ﬁoﬁmﬁjm.% HIOWN
2

m? + M2
m +
M
m
M

m+ M

Options:
MZ
M
2
+ M

1. %
2. %
3.¢

4, %



Question Number : 93 Question Id : 4509387773 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The time period of revolution of a satellite close to planet’s surface is 80 minutes. The time period

of another satellite which is at a height of 3 times the radius of the planet from surface is

28 o8 6™ DOBNNN) GIHF0 OEIDEITO0 80 AodalPen. DT
EIT0, 8 |1 G000 HOG, [P TITRE 3 B NS H8ZD0B,
'R 20| 2edEd 50?7

Options :

64 minutes

1. %

640 minutes
2. ¢

320 nunutes
3. ®

240 minutes
4. %

Question Number : 94 Question Id : 4509387774 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The work done on a wire of volume of 2 cm® is 16 x 102 ]. If the young's modulus of the material

of the wire is 4 X 10 Nm™2. Then the strain produced in the wire is
DSNBAPH0 2 em? (i) 28 B 16x 102] H T, & &f e oHoh

HEISN 4 X 1012 N2, @00 & 1S D8y



Options :

0.03m
1. %

0.04 m
2. %

0.0l m
3. %

0.02m
4.

Question Number : 95 Question Id : 4509387775 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Water flows from a tap of diameter 1.5 cm with 7.5 X 107 m®s ™. Coefficient of Viscosity of

wateris 1072 Pas. The flow is
15 cm 75090 (10 2,8 508700 D0 A 7.5 X 1075 m3s™ BENS [P ) B.

) 1280 1073 Pas WONS, & [TTO
Options:

Turbulent with Reynolds number less than 6000

B DOWE 6000 FOT 550305 ()5 S0HHD DT 0

1. %

Steady flow with Reynolds number less than 2000

BO*O DOWS 2000 0T 5005 1S D& |DaeT0
2. %



Turbulent with Reynolds number greater than 6000

BIO DOWS 6000 F0T D026 S H0HY (D0
v

Steady flow with Reynolds number more than 6000

. BarQ SOS 6000 0T DB (10> DEE (Daer0
4.

Question Number : 96 Question Id : 4509387776 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

A uniform metal solid sphere 1s rotating with angular speed w, about diameter. If the temperature

is raised by 50 °C. the angular speed will be

[given ety = 20 X 107°°C7Y]

2,8 D368 S TNITL0 wp SHAD HAS TR 50 SEFEOT (060 TN D,

950 B8} &5411¢e 50 °C OB ) SeIokh S

(g, = 20 X 1075 °C7 TP 9a) SOR0E)]
Options:

095 i
1. %

0.96 w,

0.98 w,
3. ¢

4, ®



wp (Angular velocity 1s same)

0o (SBOH 5B STSD)

Question Number : 97 Question Id : 4509387777 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

When 2 moles of a monatomic gas expands adiabatically from a temperature of 80°C to 50°C, the

work done is W. The work done when 3 moles of a diatomic gas expands adiabatically from

50°C to 20°C, 1

2 370 © 8 H0STEDE TG 80°C00d 50°C, SIS VO HEARS

T8I0 TOANND ZOA DA W. 3 O © A 538308 A 50°C b0 20°C,

&% DB DS 75530 TS, 2OAS HR

Options :

7W

1. %

Question Number : 98 Question Id : 4509387778 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



A gas absorbs 18] of heat and work done on the gas is 12 ]. Then the change in internal energy of

the gas
2,8 O 18] GaP) T 00O HOO FANNYD 12] IR B6A0D. BN
T80 @068 $85°Q 7 )

Options :

247
1. %

36]

6]

30
4. )

Question Number : 99 Question Id : 4509387779 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
If the ratio of the absolute temperature of the sink and source of a Carnot engine 1s changed from

2:3t03: 4, the efficiency of the engine changes by
50 0000 G0E; FBerFaHo HOOKD EPHD0e DB GRS AR
21300063 4 % 87605, 0D0(0 B BES srth)

Options :

25%
1.¢



40%

2. %

50%
3 %

15%
4. %

Question Number : 100 Question Id : 4509387780 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The ratio of the molar specific heat capacities of monatomic and diatomic gases at constant pressure

Options :

1:7

2:7

Question Number : 101 Question Id : 4509387781 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
The frequency of fifth harmonic of a closed pipe is equal to the frequency of third harmonic of an

open pipe. If the length of the open pipe is 72 cm. then the length of the closed pipe 1s

2,8 PR &) )0 OR05), 96) @b SO0 )50, 28 BB ) Y0 B3NS},
ched @80 )8 HerR0. BUD &) M0 &) 72 em ©ONS,
Q) Gi), TR0 &Pcha)

Options :

60 cm
1. ¢

45 cm
2. %

30 em
3. %

75 cm
4. %

Question Number : 102 Question Id : 4509387782 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
When a convex lens 15 immersed in two different liquids of refractive indices 1.25 and 1.5. the

ratio of the focal lengths of the lens is 5: 16. The refractive index of the material of the lens 1s

18 25 heasen 125 HOOM 15, Ko 3ok DX [BTOS 28 §oersd
E050) SN0DSE, S0 TAR0STO S 5:16. @ONB $0F 0
82850 Mo

Options :



1. %
2. ®
1.65
3.¥
4 % 1.6

Question Number : 103 Question Id : 4509387783 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Twwo light waves of mtensities [ and 21 superimpose on each other, If the path difference between

the light waves reaching a point s 12.5% of the wavelength of the light. then the resultant intensity

at the point 15 (Both the light waves have same wavelength)

15805 21 S5 116 B FOB SEOMOD 28 A HTE TR ersde
D, 2.8 Doy TO 508 SBOme DS N B0 S0 oK TTLAS
12.5% 008, & D0Na) & HEE 6‘3@@6

(B0Ch 5088 SSorren 2,3 ot TR $OR ey an)

Options :

I
1. %

91
2. %

31



Question Number : 104 Question Id : 4509387784 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

A particle of mass 0.5 g and charge 10 uC is subjected to a uniform electric field of 8 NC. If the

particle is initially at rest. the velocity of the particle after a time of 5 seconds is

0.5 g [(3:35078 5600 10 uC &340 fie) 28 §erR), 8 NC! 808 DCD;S 3 [@8

DOTIE. $20 Send AT VBS HOB), 5 VEDO PO Sared §60 o
Options :

5 ms™!

0.5 ms"

8 ms”

0.8 ms™!

Question Number : 105 Question Id : 4509387785 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



1235 identical charged small spheres coalesce to form a big charged sphere. If the electric potential

on each small sphere 1s 60 mV. then the electric potential on the bigger sphere formed is
2,5 08 125 9968 D) Feren $ONFaN 2.8 DG 85eh AFOm IS )BT,
2,538 D) 110 2 DS FTRONO 60 mV @A JBIB DG FF0 2 N5
SBROHO

Options :

1% 0V

15V

3V

Question Number : 106 Question Id : 4509387786 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Two particles of charges 4 nC and Q are kept 1n air with a separation of 10 cm between them. If the

electrostatic potential energy of the system 1s 1.8 uJ. then Q =

4 1C HB0M Q eFFen o) Boch Lerernd ared eds Crdo 10 em GORNED
GO, IR VG Dchsed 48 1.8 w @woned Q=
Options :

12 nC
1. %



9nC

2 %®
5 n(C
3.¢¥
7 nC
4. %

Question Number : 107 Question Id : 4509387787 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The emf of a cell of internal resistance 2 () 1s measured using a voltmeter of resistance 998 (. The

error 11 the emf measured 1s

QOG0 9980 (10 28 SN DEFHD GHAFAOD 20 @058) 50 Koy 2.8 ey
B0 emf oD FOTA. 52080 emf S B0

Options :
0.4%
4%

2%

0.2%



Question Number : 108 Question Id : 4509387788 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

In a meter bridge experiment, a resistance of 9 () is connected in the left gap and an unknown
resistance greater than 9 Q) is connected m the right gap. If the resistance m the gaps are

mterchanged. the balancing point shifts by 10 cm. The unknown resistance 1s

2,8 D00 DA HBFHOS, D FFOS 9 0 AT O 5B 279 90 50T
D5 BONA AT 0D, TSR ABTOD THITD TR,
0RO 0 10 em BEHDHD. @900 BOCHR ABE0 NENS

Options :

18 0

2210}

110

360
4. %

Question Number : 109 Question Id : 4509387789 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



A charge ‘q’ 1s spread uniformly over an isolated ring of radius ‘R’ The ring is rotated about its

natural axis with angular speed ‘w’. The magnetic dipole moment of the ring is
R 700 SO0 8 A0S 08610 BOBER ‘@ SIF0 NE0ST 20D G0O.
$0869008) ‘o’ SEIAD SAS TR 1578 5.0 NGO 2060 ToSOT . HONS &

503620 G35} SAHRTL0ed B 5 2050

Options :
qwR
1. % .
qwR?
2. ®
qwR?
2
3.¢
q
2R
4, ®

Question Number : 110 Question Id : 4509387790 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Current sensitivities of two galvanometers G;and G, of resistances 100 0 and 50 0 are 10%div/A

and 0.5 X 10°div/A respectively. The galvanometer in which the voltage sensitivity is more is

1000 AN 500 en ATTEN K> Boch o) D 6,000 6, © i

DT DAYSE e SO 108div/A HOA 05X 10%div/A ©ONB  4,82

R 6 0 8028 EOR ey srradeath



Options :

Same in both galvanometers

B0 e LD S Hoird0o

1. %
More in G,
G, ¢S DB
Zero
D)
3. %
More i1 Gy
Gy &S DBV
4.

Question Number : 111 Question Id : 4509387791 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

04

The relation between p and H for a specimen of iron is ¢t = [?-F 12 X 10_4] Hm ™. The value of

H which produces flux density of 1 T will be ( 1 = magnetic permeability. H = magnetic intensity)

Aea) NS T 1 DD H © aE§ 00D0QO0 i = [Z—“ +12 % 10‘4] Hm™

TG00, @OF> oS 1T &8 T H dend (1= 06

000D, H = <008 &|5¢5)

Options :

250 Am™1
1. %



500 Am™1

2.9

750 Am™1
3 %

10 Am™1
4. %

Question Number : 112 Question Id : 4509387792 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

In a circuit the current falls from 14 Ato4 A i a time 0.2 ms. If the mduced emf 15 150 V., then the

self inductance of the circuit 1s

2,8 SO0H0S DS [HaFTO 14406 44 § 0.2ms TFOOS DAFONIA. |6

emf 150 Ve&and 50000 8 5aho (88 50

Options :
1% 6 H
6 mH
2 ®
3 mH
3H

4. %



Question Number : 113 Question Id : 4509387793 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

An alternating current 1s given by i = (3 sinwt 4 4 cos wt) A. The rms current will be

28 DF0E DDA (DarT0 i = (3sinwt +4coswt) A T B9 DBOO. SONS rms

DS DO

Options:
7
— A
V2
1. =
1
—=
V2
2.
5
—=
V2
3
3
=ik
V2
4. %

Question Number : 114 Question Id : 4509387794 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



For plane electromagnetic waves propagating i the positive Z — direction. The combination which
gives the correct possible direction for E and B fields respectively is

Sre)s 7 - O3S HTEDIRND) 28 ADBO DHISODRT08 SEOmRS,
309 50 BSOS, E HOOM B 3@ 0T 55D B3 SO 26
AP

Options :

(—2i — 3j) and (3i — 2j)

(—2i — 3j) s0BOW (3i — 2j)
1.¢

(3i + 4j) and (4i — 3j)
(3i + 4j) DB (4i — 3))

(i—2j)and (—2i —j)
(i — 2j) DB (—2i — j)

(—2i + 3j) and (i + 2j)
(—2i + 3j) DS (i + 2j)

Question Number : 115 Question Id : 4509387795 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



A photon incident on a metal of work function 2 eV produced photo electron of maximum kinetic

energy of 2 eV. The wavelength associated with the photon i

DR (NDODO 2 eV i) 2.8 S'ar0o 28 FErS HBI0 ToO KO e 48 2.6V e
508 JOITHD &8 TANDNO. BB Fere & BDI0TIN
SGoiEds0

Options :

6200 A

3100 A
2.

9300 A

2000 A

Question Number : 116 Question Id : 4509387796 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Energy levels A, B and C of a certain atom corresponding fo increasing values of energy 1e..
Ey < Eg < E;. If Ay, 4, & A5 are the wavelengths of a photon corresponding to the transitions

shown. then

28 HOSTEDHS A, B HO € ©F I5ronen (EHom 6T 48 denadd

SPORTOY. O B <Ep < Ayl B0 ®F HH0S  rNS

NOEDETOR NOVORODN JFEre BEONTT B, are3 1¢5 0O

Ec €
h
VAVRTAV. o
Eg [ B
’?-2 Rt =2
nunt _ﬂ;;
Ey Y Y \
Options :
.?13 = ";{1 ‘l_ ."12
1. %
3 - (A1 + 43)
T A
2. %

A3=A+ A3

M
A+ A)

Question Number : 117 Question Id : 4509387797 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0
In a nuclear reactor. the fuel is consumed at the rate of 1 x 10 ~* gs™*. The power generated in
kW is
2,8 952 BOIPED S 909890 1 x 10 3 g5~ Bend DATPRODADS08. o
Debserddhs 5§ kw o

Options :

9 x 104
1. %

9 x 107
2. i

9 x 108
3. ®

9 x 102
4, %

Question Number : 118 Question Id : 4509387798 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

In the diodes shown in the diagrams. which one is reverse biased?

808 e3¢5 & Ao BTk B85350 S NS0 TOHABOH?

Options:

-12v



—AAN—

-10V
2. ®
l+5u
2
[ |
|
3. ¢
+0V
+5V
4. %

Question Number : 119 Question Id : 4509387799 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
The following configuration of gates is equivalent to
-5 % =
A0S QL) ST ST IOCDINAZ D S 580

A

2 ) >

Options:



NAND

XoR

AND

OR

Question Number : 120 Question Id : 4509387800 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Size of the antenna for a carrier wave of frequency 3 MHz 1s

3 MHz PR20) 50 (10 3%3°8 G0MTRS S50 AIPOTI) 286520

Options :

T

50 m

2:5m

25 m



Chemistry

Section Id : 450938164
Section Number : 3
Mandatory or Optional : Mandatory
Number of Questions : 40
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Clear Response: ves
Maximum Instruction Time : 0
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Question Number : 121 Question Id : 4509387801 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The sum of number of angular nodes and radial nodes for 4d orbital 1s

4d e8¢ ARy, Fedoh S B0 BAANS S& © HoPse Jnto

Options :
2
1. %
3
2. ¢
3. % 4
>



Question Number : 122 Question Id : 4509387802 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
If the position of the electron was measured with an accuracy of +0.002 nm. the uncertainty in the

momentum of it would be (in kg ms ") (h = 6.626 x 1073 Js)
JOFS B0Ey TR +0.002 mm POYSS508 FOISVS, 0 (BSdsM0S

©0F)0¢b 0 (kg ms™ t’)E’S&) (h=6.626 x 1073 75)
Options :

2.637 x 10728
1. ¢

2.637 X 10724

8.283 x 10722

8.283 x 1024

Question Number : 123 Question Id : 4509387803 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Match the following

1506 TE3Q) BTN
List-I (2)&-1) List-II (23*8)& -1I)
Symbol of element Group number
(e H0Se0) (1) ODS)
A Mec I 16
B Lv II 17
C Fl 111 15
D Ts Y 14
The correct answer is
5B HEPEFS0
Options :
A-IIT B-IV C-I D-II
A-TV B-III C-I D-II
2. %
A-TII B-I C-IV D-1I
3. ¢
A-II B-IV C-I D-III
4. %

Question Number : 124 Question Id : 4509387804 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Identify the set of molecules in which the central atom has only one lone pair of electrons in their

valence shells

1806 &) ©EN)O IS Z0{C5% BTN 2PTSTONS 500 2.8 2,068 208

NO|FR 0 T2 &otradr hlotiod
Options :

BrFs. SF4. SnCl2
1.4

BrFs. XeF4. SnClh

2. %

XeF4. NH;. ClIF;
3. %

XeFg. CIFs. SF4
4. %

Question Number : 125 Question Id : 4509387805 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The bond order of which of the following two species 1s same?

1B0A a¢36S” &) BO 2¢O 20 EN0 DAFd0?

Options :

O2. N2
1. #

Ca. O

2.



Question Number : 126 Question Id : 4509387806 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

The ms velocity (ums). mean velocity (uay) and most probability (uay) of a gas differ from each

other at a given temperature. Which of the following ratios regarding them is correct?
0 a6 30 28 aPOiIeHH) tms DO (gms). D DO (ug). (1082 D0OFSsE
S0 (ugp) 28 TFRATEE S 0re sotraw. F¢38 020002 (508 A )HOS A

DR?

Options:
Urms 1.20
s '

1. %
u

= 1.12

Ump

2. ¥
Urms 1.15
Wy '

3. %



Uy

= 0.98

-Lll‘I]‘.lS

Question Number : 127 Question Id : 4509387807 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
60 em’ of S0 gas diffused through a porous membrane in “’ min. Under similar conditions
360 e’ of another gas (molar mass 4 g mol ™) diffused in ‘y” min. The ratio of x and y is
60 e’ © SO1 POV %' min & 2,8 DAYE TS HOG S0 ToHOH, ©F
é@@@ﬁ)&)@fﬂs 360 cm’ © SNTE O (Frer0 3503 4 gmol ™) " min o) NEPINO
T0H08. x DO y © A

Options :

3:2
1. %

2:3
2.

i3
3. %

Azl
4, %

Question Number : 128 Question Id : 4509387808 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Observe the following reactions

1B8O& 385 HBBEOTDW

. VAN
(i) 2KC1O5(s) = 2KCl(s)+305(g)

(i1) 2H,0,(aq) & = 2H,0(1)+0,(g)

(111) AgNO;5(aq)+KCl(aq) = AgCl(s)+KNO;s(aq)

. 1
(1v) 2Na(s) + = 0,(g) ——— Na,0(s)

The number of redox reactions in this list 1s

& OY S DS 85 HBsed Hows

Options :

3
1.¢

4
2 %

5
3. % 7
4% b

Question Number : 129 Question Id : 4509387809 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



A 10 L vessel contains 1 mole of an ideal gas with pressure of P(atm) and temperature of T(K). The
vessel 1s divided into two equal parts. The pressure (in atm) and temperature (in K) m each part 1s
respectively

2,8 101 2RSS 1 36 e3¢ 0ina), 00 Platm) DO E58F 16 T(K) ©cdd $OR
G510, (S B DS FTPENT DB, HB 27i0S DS (atm OS)

B0 &S K 0S) S8

Options :
P T
i 2
1. %
P
—s T
2
2. ®
P, T
3.v
T
2l =
2
4, ®

Question Number : 130 Question Id : 4509387810 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Observe the following reactions
1BOB B850 HBBEO0TNAD
I.  CaCOs3(s)—CaO(s)+C0Og)
II. Cl(g)—2Cl(g)
. HO()—H0(s)
Identify the reactions in which entropy increases

DOE°D) & VB5S” DHHEROE HB oS

Options :

L1 1

I. II Only
I, IT 307 €80
2.¥ -
I. IIT Only
I, IIT 530765530
3. %
I1. IIT Only
I1. IIT o33°( €530
4. % )

Question Number : 131 Question Id : 4509387811 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



At 300 K. K. for the reaction.

AsBy(g) Ay(g) 1 By(g)

is 100 mol L', What is its Ky (in atm) at the same temperature? (R = 0.082 L atm mol ' K
300 K o5, 1806 tH8580 Ke ead 100 mol L
ABy(g) =——=A9(2) + By(g)

T &1 3¢ O K, D00a) (atm ©S') D0e? (R =0.082 L atm mol K

Options:

100

2460

4.06

246
4, %

Question Number : 132 Question Id : 4509387812 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

At 27°C, the degree of dissociation of HA (weak acid) in 0.5 M of its solution is 1%. The

concentrations of H30™, A” and HA at equilibrium (in mol L) are respectively

27C 569, 0.5 M HA (2006709 €3600) 79606 HA DS @36 1%, 20 e ¢,

H30", A" o805 HA Theden (mol L ©5) ST

Options :

1.¢



0.005. 0.005. 0495

0.05. 0.05. 0.45

2. %

0.01. 0.01, 049
3. %

0.005. 0.495. 0.005
4, %

Question Number : 133 Question Id : 4509387813 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Which of the following sets are correctly matched?
(1) BoHjs - electron deficient hydride
(11) NH3 - electron precise hydride
(1)  H20 - electron rich hydride
80O & AN DO 236d DONDRIN?
(i)  BoHs— O[T © A575aded e 20 B&
(i) NH;3 - QO[T &0 S0 e 3 B&

(iii) HO - DO 0 @HEo o | B&
Options :
1. 111 only

i, 111 63075 a0
1. ¢ -



1. 11, 111

2. %
11, 111 only
i, iii o307 €53
3. %
1. 11 only
i, il 353D
4, % )

Question Number : 134 Question Id : 4509387814 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Which of the following, on thermal decomposition. form both acidic and basic oxides along with

0,7

()NaNO3  (i1) Ca(NO3)y (i) Be(NO3); (iv) LINO3

The correct option 1s

800 7365’ D e a0 TOB, 0268 2Pt Bad) sy B0k 5°6 €35 1K BB

[araw?

()NaNO;  (11) Ca(NOs) (i11) Be(NO3); (iv) LiNO3

DO )50

Options:



i1, 1v only

i, iv o307 5o

ii. 1v only

i1, v 3075500

3.¥

1. 1l. 111
4. %

Question Number : 135 Question Id : 4509387815 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
Identify the correct sets
1. Boron fibres — bullet proof vest
ii.  Metal borides — protective shields
1.  Borax — glass wool
Correct option is
QBN dadeddOD MHBoHodk
i, SR o8 Shew — 8 Hoch AT EE SN0
i, SorSDE en- 8% SS5Tren
iii. S0°8)-TR g
QB 2050

Options :

i. i1 only

i, i 307|530

1. %



1. 11, 111
2. ¥

1. 111 only

i, 1ii 63375330
3. %

ii, iii o307 €530
4, %

Question Number : 136 Question Id : 4509387816 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Which of the following 1s / are 1onic in nature?
(1) GeF4 (ii) SnF4 (iii) PbF4
The correct option 1s
80O ¢3S @OITRE D520 EOA(D) IED)?
(1) GeF4 (ii) SnF4 (ii1) PbF4
AV W HE0
Options :
111 only

iii $37°| B30

ii, il o30°(€H a3



1 only

i 23076530
3. % )
1. 11 only
i ii o375
4, % i

Question Number : 137 Question Id : 4509387817 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Which of the following is lung irritant?

1808 ¢3S DO ERHOBEN (HEFIDE 5°520?

Options :
1 % CO

NO»
2. ¢

CO»r
3, *®

CHy
4, =

Question Number : 138 Question Id : 4509387818 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Which of the following sequence of reagents convert 3-hexene to propane?

80D  5°85°0) EaD0 3-378 )0 &) | DR TP 3PS 0E?
Options :

KMnO4| H: NaOH. Ca0Q

1. %
(1) O3 (11) Zn. HoO: NaBH4
2. %
(1) O3, (1) Zn.H2O : Zn-Hg. HCI
3.¢
KMnO4 | H™: LiAIHy. H2O
4. %

Question Number : 139 Question Id : 4509387819 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
The number of alicyclic compounds from the following is

Cyclohexene. Anisole. Pyridine. Tetrahydrofuran. Biphenyl
1808 73S &55) DOEE S Fred dows

25 27818, DTS, DOAS. BT ZFIEI 07D, BIIO

Options :

-
1.+ ~©

L]



Question Number : 140 Question Id : 4509387820 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The molecular formula of a crystalline solid 1s X3Y7, Atoms of Y form cep lattice. and atoms of X

occupy 50% octahedral voids and x% of tetrahedral voids. What is the percentage of unoccupied

tetrahedral voids?

28 DBE DI @ETFEE® XiYo. ¥ HESTEMID cop O

DTN, X DSPEDEN 50% STIIAO SOTOD OO 1% DETFTFGO

B0 eEDOHET) . TP ted) TEF TGS B[O TS0 0e?

Options :
66.6
1. %
25
2. # )
50
3.¢
33.3

4, %



Question Number : 141 Question Id : 4509387821 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

At 300 K. the vapour pressures of A and B liquids are 500 and 400 mm Hg respectively. Equal

moles of A and B are mixed to form an 1deal solution. The mole fraction of A and B in vapor state

is respectively

300 K o963, A SDO0H) B (G370 271) 2809650 ISR 500 5B 400 mm He. 37

37O © A OO B © ) EO 1 2.8 SRGITH0 IGIHD. ) WSS A

.\II
o

000N B © TS 2PPeN SR

Options :

0.5, 05
1. #®

0.666. 0.333
2. %

0.444. 0.555
3. %

0.555.0.444
4.+

Question Number : 142 Question Id : 4509387822 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Two statements are given below

Statement - I: Liquids A and B form a non-ideal solution with positive deviation. The mnteractions
between A and B are weaker than A-A and B-B interactions

Statement - II: For an ideal solution. AmixH = 0; ApzxV =10

The correct answer is

500 B0 aP§5EN Aod SO0

T35 AaOOIN BTN, (rred 8 ATOTR) (D000 &¢0)68 [TTR)
DI, ADBAN B © DE5S 89353523650 (interactions), A-A SO
B-B & 25038550 S0T) 210aPS0T &0EFON

7§25 11 &030) | IEPRS, AigH = 0: ApigV =0

DO Baran E?

Options :

1.

3.

Both Statements -1 and Statement -II are correct

0”5 §- T DB e §§- 1T BOCH® AN

W
Both Statements -I and Statement -II are not correct
oS E- T 0O °EW - I BOCH® DB QD) 5%
®
Statement-I is correct but Statement-II is not correct
LD E-1 DB 57V I §E- IT SB QDI 5°¢H
®
Statement-I 1s not correct but Statement-II 1s correct
55T QB 5°CD 57 a§0§- IT QDI
%®



Question Number : 143 Question Id : 4509387823 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

At300K. the E, of

A(s)+BY (aq) === A""(aq}*B(s)

is 1.0 V.IfA,S© of this reaction is 100 T K, what is A.H® (in kJ mol™) of this reaction?
(F=96500 C mol™)

300 K 565, A0B g AT BS) g B0 Menss 10 V. & 158 4,9
Dewsd 100 1K 900, & 15555 A HO Dens (K mol! ©¢) doeh?

(F=96500 C mol™)

Options:

—163
1.4

=273
2. %

B
3. %

—163000
4. %

Question Number : 144 Question Id : 4509387824 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



A—P is a fust order reaction. The following graph 1s obtained for this reaction. (x-axis = time:

y-axis = con¢. of A). The instantaneous rate of the reaction at point C is
A—P ©DIE 28 INGE (S5r08 185, 68 158550 1800 (o) ©2)0008. € 2ochs)
0 % £ DA 06h? (x-095 0 = O0; -5 0 = A TPCheh)

y

C slope=m
> X

Options :

1
1% m

m
2. ¢

2.303m
3. %

1

2.303 m

4, %

Question Number : 145 Question Id : 4509387825 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Two statements are given below

Statement I: Adsorption of a gas on the surface of charcoal is primarily an exothermic reaction
Statement IT: A closed vessel contains Oy, Hy. Clp. NHs gases. Its pressure 1s P (atm). About 1 g of
charcoal 1s added to this vessel and after some time its pressure was found to be less than P (atm)

The correct answer 1

1505 BOCH a7 550 B SAFON

551 0 §6 G803 a0 @A A0 (TS0 2.8 Gasrdd dds
S 2,8 SR (S¢S 0, Hy, Cla, NH3 P OO0 Q0. T 9)Ch09530 P (atm)
Qe 13270 8 & & MBS EDarch. § H000 Sehared aPBES Nhain,
P (atm) $0T) 5305 S @000

O 2

Options :

Both statement-I and statement-II are correct

o $§-1 DB AID a3 §5-II BOCH” B
1.¢

Both statement-I and statement-II are not correct

a3 S5-I s B AN a3 §S-IT BOCET BN 570

Statement-I 1s correct but statement-II 1s not corract

a3 $MS-I ABADAE 5°Q W S-IT QB E 5°¢H



Statement-I 1s not correct but statement-II 1s correct

5 S-T QBRDRE 5°¢D 5°Q a3 §WS-IT DBADSE

Question Number : 146 Question Id : 4509387826 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The critical temperature of A. B, C. D gases are 190 K. 630 K. 261 K. 400 K respectively. The

quantity of gas adsorbed per gram of charcoal at same pressure is least for the gas
A B, C.D 70i0a)® oo &af|fehen SBmI90 K. 630K, 261 K, 400 K. 2.8 [Teiw
70 5O 2 @HTN0 Todh To H0Era0 BT SN0 S T S0

&0eN0E?

Options :

D

Question Number : 147 Question Id : 4509387827 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



In the extraction of tron. the reaction which occurs at 900-1500 K in blast furnace 1s

23S DTS 900-1500 K 58 2FQ FONDS 38 ¢S

Options:

Fex(Oh +3C—2Fe+ 3CO

1. %

FeO + CO — Fe + CO2
2. ¥

3FerO3+ CO — 2Fe304+ CO»
3 %

Fe3O4+ 4C0O — 3Fe + ACOy
4. %

Question Number : 148 Question Id : 4509387828 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Hydrolysis of XeF4 gives HF. O;. Xe and ‘X, The structure of ‘X’ is

XeFs 2030690 HE, 02, Xe <08GHM X’ © N0, X’ 0690

Options :
pyramidal
DBEWBED
1. ¢



Square pyramidal

LG AT EsTY0

octahedral
ST B
3. %
Square planar
NIVITSERTeo fuigsele)
4, %

Question Number : 149 Question Id : 4509387829 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Acidification of chromate gives ‘Z’. The oxidation state of chromium in ‘7’ 1s

EHE D SDEGE0 TR 7' DD, Z' &' FaHo es§ 1586 Hog

Options:

+3
1. %

+6
2. ¢

+7
3 %

42



Question Number : 150 Question Id : 4509387830 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
Arrange the following in the increasing order of their magnetic moments
I [Mn(CN)s]*™
1.  [MnCl™
M. [Fe(CN)s]*
IV. [FeFs]™
1808 5732 a¢3 @Oy 08 |2rsn5een BT (E00S @8 0
I [Mn(CN)]*
. [MnClg*
M. [Fe(CN)™
IV. [FeFs™

Options:

M<I<IV<II

1. %

M<IV<II<I
2. ®

IV<II<I<II
3. %

M<I<<IV
4. &

Question Number : 151 Question Id : 4509387831 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0

The X formed in the following reaction sequence and 1ts structural type are respectively

808 B3T75 30065 860 X HBOIN T A6 850 SHIT

. e
OH .
g (i) HCHO. A
+ HCHO — » X
polymerisation
CHOH - »0%08%8mo

Options :

Novolac — linear polymer

S — BDOH T

1. %
Bakelite — cross linked polymer
BEBE — 2708 ;DN
2.
Novolac - cross linked polymer
e &5 — 2O DD
3. %
Bakelite — linear polymer
BESE — BDH FONG
4, %

Question Number : 152 Question Id : 4509387832 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Which of the following act as intracellular messengers?

1800 ¢3S @065 e HOTF D WOBOTR DN?

Options :
Enzymes
DODad €N

1. %
Hormones
D en

2. ¢
Receptors
[T S*e0)

3. %

Carrier proteins

o8 |¢E3S e
4. %

Question Number : 153 Question Id : 4509387833 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The deficiency of vitamin (x) causes beri beri and deficiency of vitamin (y) causes convulsions.

What are x and y respectively?
AN (x) S B0 BO HOAD IOV (5) S Hesy Frren SOV,
% B0 7 00 DT 2a)?

Options :

1.



B2 B2

®

Bi. Bz
2. ®

B>. Bs
3. %

Bi1. Bs
4.

Question Number : 154 Question Id : 4509387834 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Which of the following statement is incorrect?
508 55 DO 5°CH?

Options:

Shaving soaps contain glycerol

AD0A Hew)ereS DTS &otnod

1. #
Branched chain detergents are easily biodegradable
F YOS F O BETOE) eSO 2555156 Debed 18AD
TOCHE 0D

2. v



Commonly used Dettol 1s a mixture of chloroxylenol and terpineol
TG0 8 BEFS (SHEIBSS 0805 BBIATES ©
aD|FoN0

0.2% of phenol acts as antiseptic

0.2% DO ASTOL3VRE T° D TR O

Question Number : 155 Question Id : 4509387835 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

What are X and Y respectively in the following reactions?

806 VE5OS X SHBOM Y 0 KT DD?

CH,
BI =
2 X OH v
UV light
Br

Options :

CHa CHa

Br OH

Br Br

1. %

2. %



CHa
OH
/\\/
_
oH

CH,Br CH,OH

ol
\“‘“-\
Br Br
3.
C H'EEF CH:E‘T
Br OH
4, %

Question Number : 156 Question Id : 4509387836 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The sequence of reagents required to convert ethylbromide to propanal 1s

IBO |5 DE D (FITSD 1 555768 59V 57950 ($aD0
Options :

CH3COOAg. DIBAL-H., H20



CH3COOAg. LiAlH4. H>O

2. %

Mg/ether. HCHO. H>O
3. %

CH3COOH. LiAlH4. H>O
4, %

Question Number : 157 Question Id : 4509387837 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
What are X. Y. Z in the following reaction sequence respectively?

808 505 50065 X, Y. Z €0 SET D?

2

CHO
. Conc. NaOH Y 7
—— T _'_
A
Options :

CO, HCl, AICl; :

_ O/-\DH O/CDDNE:
CO,. ‘HC1. Cu€l;



5 COOH
HCHO, HCL ashy. AICI; - U

_ O/\COOH @/GH
CO. HC1 :

4. %

Question Number : 158 Question Id : 4509387838 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Toluene on reaction with the reagent X gave Y, which dissolves in NaHCO3 and when reacted with

Bry/ Fe gave Z. What are X and Z?
S0, 5050 X & 505500 Y 0 aD)08. Y, NaHC03 S §00henod HBok

Bry/Fe & 385 2020:¢h Z 8 2908, X B0 Z £ )7

Options:
JA/CDDH
(1) KMnO4/OH.A (1) H3O~ B N
1. %
_~._-COOH
(i) CrO.Clh (i) H0™ BN |
2. %

3. %



_CHO
(i) CrOClz; (i) H30™; SN
Br

COOH
(1) KMnO4/OH.A (1) H3O™ @r

Br

Question Number : 159 Question Id : 4509387839 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
A Grignard reagent (X) on reaction with carbonyl compound (Y) followed by hydrolysis gave Z.
Z reacts with conc. HCI at room temperature, X and Y respectively are
28 (ARa) 5650 (X) & 5030 Na0p¥no (¥) & 8509 &8 dhTed 20
DENE TODT Z & 308, K6 &if|ifed ¢ Z s HCL & 565 SocHehod.
X a0 0 IR

Options :

CH3sMgBr. CH3CH:CHO

CHsMgBr. CH3COCH;3
2.

CH3;CHCH:MgBr, HCHO



CH3;CH:MgBr, CH3CHO

Question Number : 160 Question Id : 4509387840 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

p-Methyl benzene nitrile can be prepared from which of the following?

808 T3S TR 0 p-DBO BoES T VO & ST TOHSN)?

Options :

Cl
fr’ NaCN
HC™

1. %
Cl
£ AgCN
"\-\x\_\_ -
H.C™
2. 3
NH, () NaNO,/HCl
/@ 273278 K
HaC (i1) CuCN / KCN
3.




